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Problem Set 1





15 points

1.
Households demand and the shoemakers supply running shoes according to the following schedule (the price is in tens of dollars and the shoes in thousands).  

P
Qd
Qs
	0
	23
	2

	1
	21
	3

	2
	19
	4

	3
	17
	5

	4
	15
	6

	5
	13
	7

	6
	11
	8

	7
	9
	9

	8
	7
	10

	9
	5
	11

	10
	3
	12

	11
	1
	13





a.
Graph the Demand and supply schedules above (remember to label everything).

b.
What is the equilibrium price and quantity?

c.
What is the value of the surplus, equilibrium or shortage if there is a price ceiling at $60 a pair?  Make sure to write the condition of the market AND the amount(s).

d.
What is the value of the surplus, equilibrium or shortage if there is a price ceiling at $90 a pair?  Make sure to write the condition of the market AND the amount(s).

e.
Draw and label the price ceiling that is effective on the y-axis (i.e. which price ceiling is binding or creates a surplus/shortage) – Pc.  Also label the quantities demanded and supplied on the x-axis (QD and QS).

f.
Show the appropriate new supply/demand curve for shoes due to an increase in the desire to own running shoes by 3 thousand at each price.  Label the equilibrium price and quantity (P2, Q2).  

g.
What happens to the equilibrium quantity?  The equilibrium price?  What effect did this have on the market (is the ceiling still binding, make sure to give the amount of the shortage, surplus or the equilibrium price and quantity)?  
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